BC Calculus – FDW 3rd Edition – Section 2.4 Even Answers

Quick Review 2.4
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Section 2.4

2.(a) 1  (b) 
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8.(a) slope estimates: 12,14,16,18  (b) approximately 16 m/sec

10.(a) 2  (b) y = -2x – 1  (c) 
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  (d) see graph below

12.(a) -3  (b) y = -3x – 1  (c) 
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  (d) see graph below
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12.(d) [image: image11.jpg]



14. -1   16. Yes, m = -1   18. No, discontinuity at 
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20.(a)
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 (b) m is negative with tangent lines very steep near x = 0, very flat at 
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22.(a) -2a  (b) as ‘a’ increases, slope decreases 24. 60 ft/sec   26. 
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  28. 45.76 m/sec   30. (-2,7)  32. at x = -1, y = 2x + 10 and at x = 3, y = -6x + 18  
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 (b) slopes: -4.7, -1.9, 0.6  
36. False, no tangent line as the derivtive doesn’t exist and there is no vertical tangent also.

38. E   40. A   42.(a) 
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 (b) limit 
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 (c) about the same  (d)Yes, m=
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44. Yes   46. No   48. 
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 which oscillates from -1 to 1

Quick Quiz – Sections 2.3 – 2.4

2. E    4.(a) -3  (b) -3 – 4h – h2  (c) -4 – h  (d) -4

Chapter 2 – Review Exercises

2. 5/21   4. No limit   6. 2/5   8. ½   10. 0   12. 5   14. 1   16. exists   18. DNE   20. exists

22. No   24. Yes   26.(a) 1.5  (b) 0  (c) 0  (d) No  (e) k(x) is discontinuous at x = 1 (and also points not in its domain).  28.(a) x = 0, x = -2  (b) Using the ‘number line’ trick…
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Chapter 2 – Review – Even Answers (continued)

30.(a) right: -3, left: 3  (b) No, since the right- and left-hand limits do not match. 

(c) everywhere except at x = 1  (d) at x = 1   32. no discontinuities   34.(a) 2  (b) y = 2 

36.(a) x  (b) None   38.(a) ln|x|  (b) ln|x|   40. k = ½  
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   46. 2a – 1   48. 
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50.(a) 
[image: image26.wmf][

]

3.201.351,020

0,0

xx

y

x

--+<£

ì

=

í

=

î

  (b) [image: image27.jpg][0.20] by [-5. 32]




52. 
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54.(a) 4 – 2a2  (b) -4  (c) We need 4 – 2a2 = 4, so 
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for the left- and right-hand limits to match (and therefore for the limit to exist) and notice f(2) = -4 which is that limit.

Definition of continuity at a point (say x = 2) requires: 
[image: image30.wmf]2

lim()(2)

x

fxf

®

=

.
_1275203152.unknown

_1275204180.unknown

_1275205182.unknown

_1275205304.unknown

_1275205535.unknown

_1275205675.unknown

_1275205440.unknown

_1275205223.unknown

_1275204691.unknown

_1275204881.unknown

_1275204351.unknown

_1275203611.unknown

_1275203969.unknown

_1275203995.unknown

_1275203715.unknown

_1275203448.unknown

_1275203493.unknown

_1275203327.unknown

_1275202851.unknown

_1275202928.unknown

_1275202950.unknown

_1275202903.unknown

_1275202775.unknown

_1275202802.unknown

_1275202735.unknown

